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Keeping a shop - - - - not only provides a healthy area 4. You can easily recognize my brother because he - - - -

for people but also helps the sellers draw new custo-
mers and keep the ones they have already got.

A) pretty

B) sanitary
C) nutritious
D) utilization
E) hospitable

The Maya Civilization shined at hieroglyph writing
and - - - - several symbolic calligraphic work.

A) came forward
B) passed away
C) left behind
D) brought up
E) got across

Without - - - - the remote control - - - - the pieces, |
repaired it.

A) breaking/in

B) figuring/out

C) giving/ away

D) breaking/ into

E) thinking/ over
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me.
A) calls

B) faces

C) awaits

D) accepts
E) resembles

Bruce is always making the same mistake and works
very slowly. He is not a/an - - - - worker.

A) affective
B) arrogant
C) efficient
D) clumsy
E) strong

His voice started to - - - -, he was about to cry.
A) hear

B) project

C) tremble

D) announce

E) recognize

http://odsgm.meb.gov.tr/kurslar/
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Just before - - - - of the hotel, you should leave the
key of your room at the reception and receive the
receipt.

A) falling apart

B) checking out

C) getting along

D) handing over

E) dropping back

8. Fulfill your responsibility this time. Don’t----me - - - -,
A) hold/ back

B) name/ after
C) let/ down
D) hang/ out
E) look/ for

9. The proud granny - - - - last night after suffering from
an incurable and painful illness.

A) ran over

B) threw into
C) took apart
D) worked out
E) passed away
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10. | was late because of the unexpected delay of the flight.

The plane - - - - two hours late.
A) took off
B) ran over
C) kept out
D)

)

E

hold onto
sent back

11. Don’t - - - - even if it seems to be no hope at all.
A) count on

B
C
D

E

find out
give up
cut out

)
)
)
) fill in

12. Arthur - - - - the wedding - - - - because he wasn’t in

love with his fiancé.
A) got/ around

B
C
D
E

caught/ up
filled/ up
broke/ out

)
)
)
) called/off

Cevap anahtarina ulasmak igin karekodu okutunuz.
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